

# **NETWORK EQUIPMENT**

E-Rate Yr 18 (2015-2016)

RFP # 2015-101

Request for Proposals Issued: January 7, 2015

Deadline for Submittal of Proposals: February 6, 2015

Before 2:00pm

**Attention: Technology Department** 

Chico Unified School District 1163 E 7<sup>th</sup> Street Chico, CA 95928-5903

#### **SUMMARY**

The Chico Unified School District is seeking quotes for Network Equipment. All plans proposed should include detailed billing and include hardware, installation, shipping and taxes. Service provider must label all equipment as Erate with an identifying Funding Request number.

The intent of this document is to define specifications for the equipment and requirements for installation of the complete system. All services must be provided solely by a single vendor. Please see Appendix A for list of school sites. Please see appendix B for a list of requested services to be bid.

**School Site Information:** All services must be rendered at any designated District site. Please see appendix A for a non-exclusive list of sites.

**Equipment and Services:** Chico Unified School District requests bids for the Network equipment and installation at the schools listed in appendix A. You must provide bids for the following Network hardware (or equivalent):

The District's eligible Network equipment include (or equivalent):

	,	
Part Number	Qty	Description
10G-SFPP-LR	35	Brocade 10G Short Range Optic, LC Connector
10G-SFPP-SR	230	Brocade 10G Short Range Optic, LC Connector
10G-SFPP-TWX-0101	83	Brocade 10G Active Copper Twinax Cable, 1 meter
40G-QSFP-QSFP-C-0101	6	40 GbE Direct Attached QSPF+ to QSPF+ active copper cable 1m
ICX6450-48P	129	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G lincense for 4 SFP/SFP+ ports
ICX6610-10G-LIC-POD	6	Brocade 4x10G Ports on Demand License

ICX6610-48P-E	3	Brocade ICX6610-48P 10/100/1000 PoE/PoE+ switch with 8 SFP/SFP+ ports and 4x40G QSFP ports, Premium License for L3
ICX6610-FAN-E	3	Brocade Redundant Fan for ICX6610-48P
ICX7750-48F	6	Brocade ICX7750 Switch with 48 10G SFP+ ports and 6 40GbE QSFP ports
ICX7750-FAN-E	3	Fan kit of 4 fan-side exhaust airflow
ICX7750-L3-COE	3	Right to use license for rounting and advanced functionality

#### **Requirements:**

- 1) <u>BID FORM:</u> You must complete the Bid Form for this RFP RFP 2015-101
- 2) <u>Additional Information:</u> Bidders may attach additional pertinent information they deem important to the selection, implementation, and overall success of the project.

#### In Addition, Please provide the following information:

- 1. Length of time business has provided this type of service.
- 2. Your Service Level Agreement (SLA) for your proposal.
- 3. Indicate any options available.
- 4. Please show applicable discounts separately, if applicable.
- 5. Your E-Rate Service Provider Identification Number (SPIN) on your proposal.
- 6. An implementation timeline proposal starting July 1, 2015.
- 7. Indicate how charges will be incurred as services are implemented.
- 8. Vendors must include 3 reference sites using your service 3 years or more. References from school districts or county offices of education in California are preferred.
  - Job Location
  - Contact name and telephone number
  - Date of contract
  - Project Description
  - Equipment/Service Installed

#### **SPECIAL CONDITIONS:**

1. Prices to remain firm through SLD approval, execution, and duration of the proposed contract. In the event of a price decrease for service or from the manufacturer, said decrease shall be passed on to the Chico Unified School District and documented with new price sheet sent to Chico Unified School District Technology Department.

- 2. All equipment/services costs must be new and included and identified separately.
- 3. Any prospective bidder, who contacts any School District Board Member during the RFP process, will be disqualified from consideration for the RFP award.
- 4. The Board of Education reserves the right to reject any and all bids/proposals, or any or all items of any bid/proposal.
- 5. This RFP will be posted to the Chico Unified School District website under ERATE (http://www.chicousd.org/erate). Any additions or corrections will be addressed in the form of addenda posted to the same location on the website.
- 6. All questions regarding this RFP should be directed to Technology Department, chicoerate@chicousd.org, with the subject of "ERATE RFP# 2015-101 Network Equipment question".
- 7. The Deadline for questions will be 1/20/2015 4:00pm.
- 8. Responses to all questions will be made by 1/23/2015 and will be posted on the district website.
- 9. It is the responsibility of the prospective bidder to check the website for updates or addenda.
- 10. You must provide one original and two copies of your proposal (3 total). You must also provide one digital copy (CD or flash drive) of your proposal.
- 11. Manufacturer must warrant all parts and equipment.

#### **VENDOR REQUIREMENTS**

The vendor must meet or exceed minimum qualification requirements.

All submitted proposals must provide at a minimum, all requested information in the proposal document. **Any portion not included will be cause for elimination from the quote process.** The information should be organized as indicated in the proposal requirements. The District reserves the right to eliminate from further consideration any response, which is deemed to be substantially or materially unresponsive to the RFP.

All information submitted is to be considered public knowledge and will be subject to The Public Records Act or any other applicable laws.

#### PROPOSAL EVALUATION

Each response will be reviewed prior to the selection process for completeness and adherence to format. A response will be considered complete if all requested sections are included in the proper order and properly completed. Vendors may also provide any and all recommendations for consideration such as installation, maintenance, support and design that is relevant to the total solution of the District's technology needs.

#### **Evaluation Criteria**

- Vendor cost, including unit prices, labor rates, travel/trip charges, etc.
- Extent of experience with the district
- Client references and/or citations from prior installations where equal services have been provided for projects of similar size and complexities
- Quote preparation, thoroughness, and responsiveness to the RFP requirement

The successful bidder will be chosen based upon best value. The district reserves the right to reject any or all bids.

#### RFP SCHEDULE

Solicit RFP/Bids January 7, 2015

RFP/BID question deadline RFP/BID question response RFP/Bid closing
4:00 p.m., January 20, 2015 4:00 p.m., January 23, 2015 2:00 p.m., February 6, 2015

RFP/Bid opening Date of closing

RFP/Bid Selection Before 471 filing date (approximately 03/26/2015)
Purchase Orders Contingent on E-RATE Award and District Funding

#### SPECIFIC INSTRUCTIONS & INFORMATION TO BIDDERS

- 1. PROPOSALS: Each proposal shall be submitted on forms supplied by District. Each proposal shall conform and be responsive to District specifications. Bidder shall furnish complete specifications and rates for all services requested. Additional pricing schedules detailing items listed on the proposal shall be attached to the proposal form.
- 2. DEADLINE FOR RECEIPT OF PROPOSAL: One signed original, two hard copies and one digital copy of the proposal must be submitted in sealed envelopes and should be properly identified with the proposal number and Proposal Submittal Deadline. Proposals must arrive in the Technology Department, 1163 E. 7th Street, Chico, CA 95928 before 2:00 PM, local time, February 6, 2015. Telephone, telegraphic, facsimile, emailed, and late proposals will not be accepted or considered.
- 3. PROPOSAL SUBMISSION REQUIREMENT: Proposals shall be submitted to the address above and labeled with RFP number and title on the outside of the bid package.

It is the sole responsibility of the bidder so see that the proposal is received in proper time as stated in the Notice to Bidders. Any proposal received after the scheduled closing time for receipt of proposals will be rejected and returned to the bidder.

- 4. TYPEWRITTEN/WRITTEN IN INK: All prices or notations must be typed or written in ink. Proposals written with pencil will not be accepted.
- 5. ERASURES: The proposal submitted must not contain erasures, interlineations, or other corrections unless each such correction is suitably authenticated by affixing in the margin immediately opposite the correction the surname or surnames of the person or person signing the proposal.
- 6. QUOTE SEPARATELY: Quote on each item separately. Prices should be stated based on quantities/units specified on the proposal form.
- 7. ALL COSTS INCLUDED: All costs must be included in the bidder's proposal. The bidder shall deliver, install, and complete an integrated system, which may include use of the District's own existing equipment referenced herein. These specifications are meant to outline the District's functional requirements and are not meant to be an exhaustive list of services required to accomplish these requirements.
- 8. TAXES AND INSURANCE: All insurance that may be required shall be included in all bid response quotations. The District is not exempt from California State sales and use taxes. The District is exempt from paying Federal Excise Taxes. California sales tax shall be included in the bid response quotations as a separate line item.
- 9. SIGNATURE: The proposal must be signed in the name of the bidder and must bear the signature in longhand of the person or persons duly authorized to sign the proposal. In case a proposal is submitted by a corporation, it must be signed in the name of such corporation by a duly authorized officer or agent thereof.
- 10. MODIFICATIONS: Changes in or additions to the proposal form, alternative proposals, or any modifications of the proposal form which is not specifically called for in the contract documents may result in the District's rejection of the proposal as not being responsive to the invitation to proposal. No oral or telephonic (facsimile machine, FAX, inclusive) modifications of any proposal submitted will be considered.
- 11. EXAMINATION OF CONTRACT DOCUMENTS: Bidders shall thoroughly examine and be familiar with the Drawings and Specifications. The failure or omission of any bidder to receive or examine any contract documents, forms, instruments, addenda or other documents or to visit the site and acquaint himself with conditions there existing shall in no way relieve any bidder from obligations with respect to his proposal or the contract. The submission of a proposal shall be taken as "Prime Facie" evidence of compliance with this section.

- 12. ERROR IN PROPOSAL: Any claim by bidder of error in his proposal must be made before proposals are opened, or the claim shall be deemed waived. Any bidder may withdraw his proposal at any time between the hour of proposal submittal and the hour of proposal
- 13. WITHDRAWAL OF PROPOSAL: Any bidder may withdraw his proposal by written request. All proposals received by the District shall remain subject to acceptance for a period of ninety (90) calendar days after the date of the proposal opening.
- 14. AWARD OF CONTRACT LIMITATION: No proposal will be accepted from or contract awarded to any party or firm in arrears to the District, or who is a defaulter as surety, contractor or otherwise.
- 15. EVIDENCE OF RESPONSIBILITY: Upon the request of the District, a bidder whose proposal is under consideration for the award of the Contract shall submit promptly to the District satisfactory evidence showing the bidder's financial resources, his experience and organization available for the performance of the contract.
- 16. ACCEPTANCE OR REJECTION OF PROPOSALS: The Board of Education reserves the right to reject any and all proposal, or any or all items of any proposal, or waive any irregularity of any proposal. No proposal may be withdrawn for a period of ninety (90) days without written approval of the District.
- 17. THE CONTRACT: The bidder to whom the award is made shall be required to enter into a written contract with the District. These bid specifications and the bidder's proposal will be attached to, and become a part of, the final contract documents.
- 18. PREVAILING LAW: In the event of any conflicts or ambiguities between these specifications and state or federal laws, regulations or rules, then the latter shall prevail.
- 19. BRANDS. When a particular brand or brand and model number are named in connection with any item, it is named as a standard of quality and utility only. A Bidder may submit a bid to furnish an item other than that named, but the item offered by the Bidder must state in the Bid Form the brand with its model number, if any, which he will furnish. The District shall be the sole judge of whether an offered item is the equal of the named item. If the Bidder fails to write in the brand and model number of the item to be furnished, it is understood the bidder will furnish the item named by the District as the standard of quality and utility.
- 20. SAMPLES. Where the Bidder quotes on a brand named as a standard of the quality and utility desired, a sample of the item will not be required unless specifically requested. If the bid submitted is on any other brand or make than that so named, a sample thereof must be furnished, if requested, or the bid on the item will not be considered. The sample submitted shall be the exact item the Bidder proposes to furnish. Samples of items, when requested, must be furnished free of expense to the District.
- 21. FEDERAL OR STATE REGULATIONS. The Bidder's proposal and any contract entered into are subject to all applicable statutes of the United States or of the State of California and all applicable regulations and orders of the Federal or State governments

now in effect or which shall be in effect during the period of such contract.

- 22. ASSIGNMENT PROHIBITED. No contract awarded under this proposal shall be assigned without the approval of the Board of Education.
- 23. PATENT RIGHTS, COPYRIGHTS, AND TRADEMARKS. The Bidder shall save, keep, bear harmless, and fully indemnify the District and any of its officers or agents from all damages, or claims for damages, costs, or expenses in law or equity that may at any time arise or be set up for any infringement of the patent rights, copyrights, or trademarks of any person in consequence of the use by the District, or by any of its officers or agents of items to be supplied by the Bidder.
- 24. DELIVERY. All items shall be delivered in quantities specified in the contract F.O.B., at the points within the District as specified in the contract. Deliveries in advance of the time specified in the contract shall not be accepted unless the Bidder has obtained prior approval from the District. Unless otherwise specified, if an item is not delivered as specified in the contract or if the Bidder delivers an item which does not conform to the Specifications, the Board of Trustees may, at its option, annul and set aside the contract, either in whole or in part, and may enter into a new contract in accordance with law for furnishing such item. Any additional cost or expense incurred by the District in the making of such contract or any additional cost of supplying an item by reason of the failure of the Bidder, as described in this paragraph, shall be paid by the Bidder or his surety.
- 25. INSPECTION OF ITEMS FURNISHED. All items furnished shall be subject to inspection and rejection by the District for defects or non-compliance with the specifications. The cost of inspection on deliveries or offers for delivery which do not meet specifications may be deducted from the contract price.
- 26. INABILITY TO PERFORM. In the event that Bidder is prevented from making delivery or otherwise performing on time as specified in the contract by fire, flood, earthquake, labor or transportation problems, war, acts of government, or any other similar cause commonly known as an act of God, which is not the fault of the Bidder, the Bidder shall not be required to deliver or perform, subject to the following requirements:
  - a. The Bidder shall send written notice to the District of the Bidder's inability to perform in accordance with the contract. The notice shall contain all facts which show the condition which prevents performance. The Bidder shall send such notice as soon as possible but in no event later than the fifth (5th) day following the date of issuance of a purchase order by the District or no later than the date specified in the contract for delivery or other performance, whichever is applicable.
  - b. The District may cancel the contract or purchase order, entirely or in part.
  - c. The Bidder shall not make any delivery or otherwise attempt to perform under the contract except on the basis of issuance by the District of a new purchase order or other written instruction.
- 27. WARRANTY-PRODUCT. Seller warrants that all articles furnished shall be free from all defects of material and workmanship, that all articles shall be fit and sufficient for the purposes intended, and shall save, keep, bear harmless and fully indemnify the District and any of its officers, employees or agents from all damages, or claims for damages,

costs or expenses in law or equity that may at any time arise from Buyers normal use.

- 28. EQUAL OPPORTUNITY EMPLOYMENT. Bidder, in submitting his proposal certifies that he is an Equal Opportunity Employer, and certifies that he is in compliance with the Civil Rights Act of 1964, the State Fair Employment Practice Act, and all other applicable Federal and State laws and regulations relating to equal opportunity employment, including Executive Order No. 11246 of September 24, 1965.
- 29. GOVERNING LAW AND VENUE: In the event of litigation, the bid documents and related matters shall be governed by and construed in accordance with the laws of the State of California. Venue shall be with the appropriate state or federal court located in Sacramento County.
- 30. CONTACT WITH BOARD OF EDUCATION: No business entity, including any agent of such entity, shall directly or indirectly contact any board member immediately before or during the bidding process of any project on which the business entity intends to or has submitted a bid. Any vendor violating this policy shall be deemed disqualified from bidding. Should such contact come to light after the bid is awarded and the entity was deemed the successful bidder, the Board reserves the right to cancel any contract awarded.
- 31. ARBITRATION: All claims of \$375,000 or less which arise between the bidder and the District shall be subject to the settlement and arbitration provisions set forth in the public Contract Code Sections 20104 through 20104.8, which provisions are incorporated hereby by this reference.
- 32. <u>BID PROTEST</u>. Any bid protest by any Bidder must be submitted in writing to the District before 3:30 p.m (Per district bid clock). of the **third** (3<sup>rd</sup>) business day following bid opening.
  - a. The protest must contain a complete statement of any and all bases for the protest.
  - b. The protest must refer to the specific portions of all documents that form the bases for the protest.
- c. The party filing the protest must have actually submitted a bid. A bidder may not rely on the bid protest submitted by another bidder, but must timely pursue his or her own protest.
  - d. The protest must include the name, address and telephone number of the person representing the protesting party.
  - e. The party filing the protest must concurrently transmit a copy of the protest and any attached documentation to all other parties with a direct financial interest that may be adversely affected by the outcome of the protest. Such parties shall include all other bidders or proposers who appear to have a reasonable prospect of receiving an award depending upon the outcome of the protest.
- f. The bidder whose bid has been protested may submit a written response to the bid protest. Such response shall be submitted to the District no later than 5:00 p.m., no later than three (3) working days after the deadline for submission of the

bid protest, as set forth above, and shall include all supporting documentation. Such response shall also be transmitted concurrently to the protesting bidder and to all other bidders who appear to have a reasonable prospect of receiving and award depending upon the outcome of the protest.

- g. The procedure and time limits set forth in this paragraph are mandatory and are each bidder's sole and exclusive remedy in the event of bid protest. Failure to comply with these procedures shall constitute a waiver of any right to further pursue the bid protest, including filing a Government Code Claim or legal proceedings.
- h. A "business day", for purposes of this section, means a weekday during which the District's office is open and conducting business.
- Service Discount program for schools and libraries (E-Rate), offered by the Federal Communications Commissions (FCC), via the Schools and Libraries Division (SLD). The proposal and the contract negotiated implementing this proposal, are conditional and subject to full E-Rate funding by the SLD. The District reserves the right to cancel or in any manner reduce the scope of this procurement in the event the SLD does not completely fund the request for funding submitted referencing this proposal.
- 34. SPIN: Each vendor providing services to the District as part of the E-Rate program must have a Service Provider Identification Number (SPIN). Vendor is responsible to apply to and receive from the Schools and Libraries Division a valid SPIN. Schools and Libraries Division can be reached online at: http://www.usac.org/sl
- 35. RIGHT TO TERMINATE: District reserves the right to terminate this Request for Proposal and all documents associated with the Request for Proposal, including but not limited to a Letter of Intent/Letter of Agreement, in its sole discretion at any time, with or without cause, upon written notice to the other party. In the event of termination, notice shall be deemed served on the date of mailing and shall be effective immediately. The District shall not be responsible for any costs to Bidder/Contractor prior to termination.

# Chico Unified School District, APPENDIX A

School Name	Address	City,State Zip
ACADEMY FOR CHANGE	290 East Avenue	Chico, CA 95926-1122
BIDWELL JUNIOR HIGH	2376 North Avenue	Chico, CA 95926-1434
CHAPMAN ELEMENTARY	1071 East 16th Street	Chico, CA 95928-6207
CHICO HIGH	901 Esplanade	Chico, CA 95926
CHICO JUNIOR HIGH	280 Memorial Way	Chico, CA 95926-3921
CITRUS AVENUE ELEMENTARY	1350 Citrus Avenue	Chico, CA 95926-3219
	1530 West Eighth	
EMMA WILSON ELEMENTARY	Avenue	Chico, CA 95926-7155
FAIR VIEW HIGH (CONTINUATION)	290 East Avenue	Chico, CA 95926
HOOKER OAK ELEMENTARY	1238 Arbutus Avenue	Chico, CA 95926-3586
LITTLE CHICO CREEK ELEMENTARY	2090 Amanda Way	Chico, CA 95928-3700
LOMA VISTA	2404 Marigold Avenue	Chico, CA 95926
MARIGOLD ELEMENTARY	2446 Marigold Avenue	Chico, CA 95926-1697
MARSH (HARRY M.) JUNIOR HIGH	2253 Humboldt Road	Chico, CA 95928-9132
MCMANUS (JOHN A.) ELEMENTARY	988 East Avenue	Chico, CA 95926-1398
NEAL DOW ELEMENTARY	1420 Neal Dow Avenue	Chico, CA 95926-2441
NORD COUNTRY	5554 California Street	Chico, CA 95973-9795
OAKDALE	2376 North Avenue	Chico, CA 95926
PARKVIEW ELEMENTARY	1770 East Eighth Street	Chico, CA 95928-4107
PLEASANT VALLEY HIGH	1475 East Avenue	Chico, CA 95926-1699
ROSEDALE ELEMENTARY	100 Oak Street	Chico, CA 95928-5046
SHASTA ELEMENTARY	169 Leora Court	Chico, CA 95926-0252
	1598 Hooker Oak	01: 04.05000.000
SIERRA VIEW ELEMENTARY	Avenue	Chico, CA 95926-2961

Any other location within the greater Chico area designated by the District.

# **Chico Unified School District**

#### BID FORM RFP # 2015-101 Networks Equipment FISCAL YEAR 2015-2016

Vendor Company Name:	
Vendor Name:	
Vendor Title:	
Vendor SPIN:	
Vendor Phone:	

# The District's eligible Network Equipment include (or equivalent):

Site: Chic	co High School, 901 Esp	planade, Chico, CA 95926-3993		
Qty	Proposed Part number	Description	Unit Price	Extended Cost
•	N	IDF Room A202	1	1
2	ICX7750-48F	Brocade ICX7750 Switch with 48 10G SFP+ ports and 6 40GbE QSFP ports		
1	ICX7750-L3-COE	Right to use license for rounting and advanced functionality		
2	RPS9+E	500 W AC power supply, power supply exhaust airflow		
1	ICX7750-FAN-E	Fan kit of 4 fan-side exhaust airflow		
2	40G-QSFP-QSFP-C- 0101	40 GbE Direct Attached QSPF+ to QSPF+ active copper cable 1m		
3	10G-SFPP-LR	Brocade 10G Long Range Optic, LC Connector		
9	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
32	10G-SFPP-SR	Brocade 10G Longe Range Optic, over multimode		
5	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
4	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
5	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
		DF Room A113		T
3	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
2	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		

	ı	1	1
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
	1 200 0	IDF B Bldg.	
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+	
4	ICX6450-48P	switch with 2x10G license for 4 SFP/SFP+ ports	
		Brocade 10G Active Copper Twinax Cable, 1	
3	10G-SFPP-TWX-0101	meter	
4	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
	T	IDF C Bldg.	
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+	
4	ICX6450-48P	switch with 2x10G license for 4 SFP/SFP+ ports	
		Brocade 10G Active Copper Twinax Cable, 1	
3	10G-SFPP-TWX-0101	meter	
4	400 0500 00	B	
4	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
		IDF D Bldg.	
		D	
1	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports	
тт	1CX0430-46F	Switch with 2x100 license for 4 3i F/3i F+ ports	
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
	100 3111 311	IDF F Bldg.	
		is. I siag.	
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+	
3	ICX6450-48P	switch with 2x10G license for 4 SFP/SFP+ ports	
		Brocade 10G Active Copper Twinax Cable, 1	
2	10G-SFPP-TWX-0101	meter	
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
		IDF H Bldg.	
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+	
2	ICX6450-48P	switch with 2x10G license for 4 SFP/SFP+ ports	
		Brocade 10G Active Copper Twinax Cable, 1	
1	10G-SFPP-TWX-0101	meter	
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
	Τ	IDF Itech Bldg.	
-	1076426 400	Brocade ICX6450-48P 10/100/1000 PoE/PoE+	
6	ICX6450-48P	switch with 2x10G license for 4 SFP/SFP+ ports	

5	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1	
<u> </u>	100-3111-1WX-0101	meter	
6	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
	IC	OF Library Bldg.	
6	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports	
5	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter	
6	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
		IDF Ag Bldg.	
2	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports	
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter	
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
		IDF S Bldg.	T T
2	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports	
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter	
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
		DF Gym Bldg.	
2	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports	
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter	
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
		IDF K Bldg.	
3	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports	
2	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter	
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	

		IDF J Bldg.		
6	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
5	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
6	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
		OF Lincoln Hall		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+		
1	ICX6450-48P	ports		
1	10G-SFPP-LR	Brocade 10G Short Range Optic, LC Connector		
		OF Fitness Lab	<del>-</del>	
1	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
1	10G-SFPP-LR	Brocade 10G Short Range Optic, LC Connector		
			Sub total	
			Taxes	
			Shipping	
			Installation	
			Grand Total	

	Site: Chico Junior High School, 280 Memorial Way, Chico, CA 95926-3999					
Qty	Proposed Part number	Description	Unit Price	Extended Cost		
	MDF Room 961	961,200,202,204,206,208				
2	ICX7750-48F	Brocade ICX7750 Switch with 48 10G SFP+ ports and 6 40GbE QSFP ports				
1	ICX7750-L3-COE	Right to use license for rounting and advanced functionality				
2	RPS9+E	500 W AC power supply, power supply exhaust airflow				
1	ICX7750-FAN-E	Fan kit of 4 fan-side exhaust airflow				
	40G-QSFP-QSFP-C-0101	40 GbE Direct Attached QSPF+ to QSPF+ active copper cable 1m				
1	10G-SFPP-LR	Brocade 10G Long Range Optic, LC Connector				

			[	
25	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
2	ICX6450-48P	ports		
		Brocade 10G Active Copper Twinax Cable, 1		
1	10G-SFPP-TWX-0101	meter		
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	I.	201,203,205,207,209,211		
	151 1100111 205			
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+		
2	ICX6450-48P	ports		
		Brocade 10G Active Copper Twinax Cable, 1		
1	10G-SFPP-TWX-0101	meter		
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	IDF Room 3	302 300,302,304,306		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
2	ICX6450-48P	ports		
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	IDF Room 305	301,303,305,307,309,311		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
2	ICX6450-48P	ports		
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	IDF Room 400	0 400,402,404,406,408		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
3	ICX6450-48P	switch with 2x10G license for 4 SFP/SFP+ ports		
		Brocade 10G Active Copper Twinax Cable, 1		
2	10G-SFPP-TWX-0101	meter		
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
3	I.	F Room 408		
	טו	I NUUIII <del>4</del> 00		

		Brocade ICX6450-48P 10/100/1000 PoE/PoE+	
1	ICX6450-48P	switch with 2x10G license for 4 SFP/SFP+ ports	
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
		5 401,403,405,407,409	
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+	
2	ICX6450-48P	switch with 2x10G license for 4 SFP/SFP+ ports	
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter	
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
	IDF Room !	500 500,502,504,506	
2	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports	
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter	
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector <b>501,501a,503,505</b>	
2	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports	
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter	
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
	IDF Adn	ninistrative Offices	
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+	
2	ICX6450-48P	ports	
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter	
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
	IDF Library	Library and Copy room	
	ICVC4FO 40D	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+	
1	ICX6450-48P	ports	
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector	
	IDF (	Gym Bldg. Gym	

				1
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
1	ICX6450-48P	ports		
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	IDF Lo	cker room Bldg.		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
1	ICX6450-48P	ports		
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	IDF MPR	MPR and Kitchen		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
1	ICX6450-48P	ports		
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	ID	F Room 600		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
1	ICX6450-48P	ports		
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
			Sub total	
			Taxes	
			Shipping	
			Installation	
			Grand	
			Total	

Site: Han	k Marsh Junior High Scho	ool, 2253 Humbolt Road, Chico, CA 95928		
Qty	Proposed Part number	Description	Unit Price	Extended Cost
Q.,		Room 933 1-12	- Cimerine	Cost
3	ICX6610-48P-E	Brocade ICX6610-48P 10/100/1000 PoE/PoE+ switch with 8 SFP/SFP+ ports and 4x40G QSFP ports, Premium License for L3		
3	ICX6610-FAN-E	Brocade Redundant Fan for ICX6610-48P		
3	RPS16-E	Brocade Redundant Power Supply for ICX6610-48P		
6	ICX6610-10G-LIC-POD	Brocade 4x10G Ports on Demand License		

				1
1	10G-SFPP-LR	Brocade 10G Long Range Optic, LC Connector		
13	13 10G-SFPP-SR Brocade 10G Short Range Optic, LC Connect			
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
	1000450 400	switch with 2x10G license for 4 SFP/SFP+		
1	ICX6450-48P	ports		
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
	l	oom 939 13-18		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
2	ICX6450-48P	ports		
	400 CEDD TANK 2424	Brocade 10G Active Copper Twinax Cable, 1		
1	10G-SFPP-TWX-0101	meter		
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
_	l.	pom 944 19-22		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
2	ICX6450-48P	ports		
	400 CEDD TIMIN 0404	Brocade 10G Active Copper Twinax Cable, 1		
1	10G-SFPP-TWX-0101	meter		
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
IDF Room 23 23-29, MPR				
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
3	ICX6450-48P	ports		
	400 CEDD TANK 0404	Brocade 10G Active Copper Twinax Cable, 1		
2	10G-SFPP-TWX-0101	meter		-
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
3		F Room Gym		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+		
		switch with 2x10G license for 4 SFP/SFP+		
1	ICX6450-48P	ports		
	100 0500 00	December 400 Charles December 2011 1 2 2		
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	IDF	Library Bldg.		
		Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+		
3	ICX6450-48P	ports		
			•	

2	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	IDF Adr	ninistrative Bldg.		
2	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
			Sub total	
			Taxes	
			Shipping	
			Installation	
			Grand	

Total

Site: Pleasant Valley High School, 1475 East Avenue, Chico, CA 95926

Qty	Proposed Part number	Description	Unit Price	Extended Cost
	, N	IDF Library		
2	ICX7750-48F	Brocade ICX7750 Switch with 48 10G SFP+ ports and 6 40GbE QSFP ports		
1	ICX7750-L3-COE	Right to use license for rounting and advanced functionality		
2	RPS9+E	500 W AC power supply, power supply exhaust airflow		
1	ICX7750-FAN-E	Fan kit of 4 fan-side exhaust airflow		
2	40G-QSFP-QSFP-C-0101	40 GbE Direct Attached QSPF+ to QSPF+ active copper cable 1m		
14	10G-SFPP-LR	Brocade 10G Long Range Optic, LC Connector		
27	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
4	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		

3	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1		
		Brocade 10G Short Range Optic, LC		
7				
	IDF Room Administrative Offices			
2	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
		OF B Bldg.		
3	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
2	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	IDF C Bldg.			
3	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
2	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	I[	OF D Bldg.		
3	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
2	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
		OF E Bldg.		
1	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	IDF	Gym Bldg.		

		Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+			
1	ICX6450-48P	ports			
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector			
	IDF	L1 and Library			
4	ICVC 4FO 40D	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+			
1	ICX6450-48P	Brocade 10G Short Range Optic, LC			
1	10G-SFPP-SR	Connector  DF M Bldg.			
	<u>'</u>	Brocade ICX6450-48P 10/100/1000 PoE/PoE+			
5	ICX6450-48P	switch with 2x10G license for 4 SFP/SFP+ ports			
4	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter			
5	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector			
	<u> </u>	DF O Bldg.			
2	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports			
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter			
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector			
	IDF P Bldg.				
2	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports			
1	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter			
2	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector			
		DF S Bldg.			
3	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports			
2	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter			
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector			
		DF V Bldg.			

1	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
1	1 1CA0430-40F POILS			
1	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	ID	F CFA Bldg.		
3	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
2	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
3	10G-SFPP-SR	Brocade 10G Short Range Optic, LC Connector		
	ID.	F Y Bldg 1.1		
4	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
3	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
4	10G-SFPP-LR	Brocade 10G Short Range Optic, LC Connector		
	IDF Y Bldg 1.2			
3	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
2	Brocade 10G Active Copper Twinax Cable, 1			
3	10G-SFPP-LR	Brocade 10G Short Range Optic, LC Connector		
	ID	F Y Bldg 2.1		
4	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
3	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		
4	10G-SFPP-LR	Brocade 10G Short Range Optic, LC Connector		
	ID	F Y Bldg 2.2		
3	ICX6450-48P	Brocade ICX6450-48P 10/100/1000 PoE/PoE+ switch with 2x10G license for 4 SFP/SFP+ ports		
2	10G-SFPP-TWX-0101	Brocade 10G Active Copper Twinax Cable, 1 meter		

3 10G-SFPP-LR	Brocade 10G Short Range Optic, LC Connector	
	·	Sub total
		Taxes
		Shipping
		Installation
		Grand
		Total

Responding to Request For Proposal No. 2015-101 due February 6, 2015 before 2:00 PM



# Letter of Agreement Chico Unified School District and

	(1	Name of Company)	
Pursuant to of Company		ol District's RFP # 2015-101 for Network Equipment, (N	
2015-101	dated (mm/dd/yyyy)	, (Name of Compa	any)
affactive th	wi	Il provide the equipment and services per RFP # 2015- fied School District Purchase Order(s).	101
enective in	e date of issuance of Chico Offin	led School District Furchase Order(s).	
(Name of C	Company)	and Chico Unified School Dis	tric
		Rate eligible products and services, which are contingen	
~ .		on of USAC/FCC and the Chico Unified School District	for
E-Rate Yea	ar 2015 (Year 18), and Chico Un	ified School District Board of Education approval.	
The Chico	Unified School District reserves	s the right to terminate the referenced Request for Prop	osal
		the Request for Proposal, including but not limited to	
		t any time, with or without cause, upon written notice to	
	•	tice shall be deemed served on the date of mailing and s	
		shall not be responsible for any costs to Bidder prio	
termination	ı <b>.</b>		
Chico Unif	ied School District		
Cinco Cini	ied Selioof District	(Name of Company)	
		r 37	
Authorized	Representative Signature	Authorized Representative Signature	
	Representative Signature	Date:	
Dutc		<u></u>	
Name:	Kelly Staley	Name:	
Title:	Superintendent	Title:	
Address:	1163 E. 7 <sup>th</sup> Street	Address:	
	Chico, Ca. 95928	<del></del>	
Email:	kstaley@chicousd.org	Email:	

# VENDOR'S CERTIFICATE REGARDING WORKERS' COMPENSATION

Phone:

(530)891-3000

Phone:

**Chico Unified School District** 

# REQUEST FOR PROPOSAL RFP # 2015-101 ERATE FY 2015 (YR18)

#### **Network Equipment**

Labor Code section 3700 in relevant part provides:

Every employer except the State shall secure the payment of compensation in one or more of the following ways:

- (a) By being insured against liability to pay compensation in one or more insurers duly authorized to write compensation insurance in this State.
- (b) By securing from the Director of Industrial Relations a certificate of consent to self-insure, which may be given upon furnishing proof satisfactory to the Director of Industrial Relations of ability to self-insure and to pay any compensation that may become due to his employees.

I am aware of the provisions of section 3700 of the Labor Code which require every employer to be insured against liability for workers' compensation or to undertake self-insurance in accordance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this contract.

Signature_	
Date	 
Name	 
Title	 
Company_	

(In accordance with article 5 (commencing at section 1860), chapter 1, part 7, division 2 of the Labor Code, the above certificate must be signed and filed with the awarding body prior to performing any work under this contract.)

# NONCOLLUSION AFFIDAVIT

# Chico Unified School District REQUEST FOR PROPOSAL RFP # 2015-101 ERATE FY 2015 (YR18) Network Equipment

State of California	)		
County of	)ss. )		
·	(Name), being	first duly swor	n, deposes and says that he is
	(title) of the		(Name) party making the attached
bid; that the bid is not made in	the interest of, or on behalf	of, any undiscl	losed person, partnership, company, association,
organization, or corporation; t	hat the bid is genuine and no	ot collusive or s	ham; that the bidder has not directly or indirectly
induced or solicited any other	bidder to put in a false or sh	am bid, and ha	s not directly or indirectly colluded, conspired,
connived, or agreed with any l	pidder or anyone else to put	in a sham bid, o	or that anyone shall refrain from bidding; that the
bidder has not in any manner,	directly or indirectly, sough	t by agreement,	, communication, or conference with anyone to fix
the bid price of the bidder or a	ny other bidder, or to fix an	y overhead, pro	ofit, or cost element of the bid price, or of that of
any other bidder, or to secure	any advantage against the pu	ıblic body awaı	rding the contract of anyone interested in the
proposed contract; that all stat	ements contained in the bid	are true; and, fu	urther, that the bidder has not, directly or
indirectly, submitted his or he	r bid price or any breakdowi	n thereof, or the	e contents thereof, or divulged information or data
relative thereto, or paid, and w	vill not pay, any fee to any co	orporation, part	nership, company, association, organization, bid
depository, or to any member	or agent thereof to effectuate	e a collusive or	sham bid.
I certify (or declare) under per correct.	nalty of perjury under the law	vs of the State of	of California that the foregoing is true and
Executed thisday of	, 20	at	California.
Date:			
	Signature of Bidder		

#### E-rate Service Provider Contact Information – FY 2015 (Year 18)

### Chico Unified School District REQUEST FOR PROPOSAL RFP # 2015-101 ERATE FY 2015 (YR18) Network Equipment

Vendor must provide the following information:

Person authorized to negotiate and sign the terms and conditions of any agreement between vendor and Chico Unified School District.

Name:
Title
: Company:
Address:
City, State, Zip code:
Phone:
Fax:
Email:

Include other important contact information.